Included in the OTM-BRACKET

2 x Tank mount brackets

= = 4 x Self adhesive cable clips
.ﬁ 2 x Black 16mm M5 screw

.

;..". @T-:’ 8 x Black 16mm M4 screw

e} ummaz)

2 x M5 nylon washer

2 x M5 Nylock nut

4 x Plastic spreader caps

4 x Plastic Screws

4 x Plastic feet

WA ..

=

D¢

The Aquarium Solution




